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1. Answer the following questions : 1x5=5
T epPTRA Ged ferdt
(a) If statement p stands for 2+2=4 and

statement g stands for 3-1=0, then
find the truth value of PAg.

i I p SREOIE 2+2=4F | g OFBIR
3-1=0% @MW, (@ PAgI TFomH
<41 |

(b) Write the negative statement for the
following :

“All good teachers are male.”

wod SfEUE Reaen! fordt
‘SR o e R
(c) Find the mode of the following digits :

oS Tl SPEIRY A] ITF T ]9
2, 4,6,8 2, 3,7,59,4,7, 4
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(2)

(d) Fill the blank in the following series :
weore il INER A o] <7 A

ZAs, Y4B, XC6, W3D)

(/) What do you mean by correlation
coefficient?

SMeTTE @IS I @
2. Answer any five of the following questions :
2x5=10
o R R e #Asbt e S fordt
(@) In how many ways you can dressed

with a shirt and a pant if you have
4 pants and 5 shirts?

B 451 (6 | 561 5I6 = «Bt 56 =1
o5 Ream g Pl enf@i?

(b) If 4’ means <, “ means *’, ‘x’ means
‘+’ and ‘“+’ means ‘+’, then find the value
of 25x5-15+3x4.
w3t ©, g w0, T g e
w3 ud 4 W, (O 25x5-15+3 x49 T
fdfa =9

(c) 1If the mean of first n natural numbers

is S?n, then find n.

i A2y n%‘rwﬁzsmwmm%@,m
n3 I g w41
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(@)

(e)

(9)

(h)

@
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(3)

Solve

4x+3<13-x

and represent it in the number line.
4x+3<13—xT AN 3 HF RYIII©
Terglod T '

If (’ﬂﬁ) MATHEMATICS = 12345123678,
then ((98) MAHATMA="?

Find the number of diagonals of an
octagon.

9ol SpgER R W R A

“In a group of 370 people, there are
at least two people with the same
birthday.” Is the statement true?
Justify your -answer.

“370 @AW @B W TR S FWS 7o
PR wAhE <ot s+ 1" SRt T ?
(oI e Ffegeol dfoem 3

How many times a wheel of radius
28 cm rotates to go 352 m?

(Take m=22)

352 bl 737 T 28 =, . IpId @Bt vt
e e gfRa e (Pt e n=22)

A is B’s sister, Cis B’s mother, D is C’s

father and E is D’s mother, then how is
A related to D?
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A @R BI o, C T BI ¥, D ™WE CI
MOIT WIF E (T8 DI IF, (OWRE DI
Cits A7 & =46 wiim?

() Find the mean deviation about mean
for the following data :
e o3 cFae WR w av Rpfs
Sfereat -

6, 7, 10, 12, 13, 4, 8, 12
3. Answer any four of the following questions :
5x4=20

oo fl R i oifRG! o e forat ¢

(a) The distance between two stations is
100 km. A train takes 240 minutes to
cover this distance. Calculate the speed
of the train in km/h and in m/s.
T WY Sied @y 100 R 9| @@= -
MW @@ @y 240 ffbe wfsey @
@@ ofsws /o0 W fiEy
Py ot Sfneat |

(b) The angles of depression of two ships
from the top of the lighthouse.are 45°
and 30°. If the ships are 120 m apart,
then find the height of the lighthouse.
B! N TR ST A IR WIS Ao (It
FAFE 45° AF 30° W MW @RS 741
TeR [Y 120 R =, (om 75 79 Two!
g =t
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@)

(e)
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(5)

A committee of 7 has to be formed from
9 boys and 4 girls. In how many ways
can this be done when the committee
consists of—

(i) exactly 3 girls;
(ii) at least 3 girls?

9 T A WF 4 TN QANT NI [ 99
7 AR ARRS a5 R e | SRfew e
@0 o IR 4R, Az Afes

(i) 3 & @RA AU
(i) =fs IS 3 TA @A AW ?

The length, breadth and height of a
cuboid are in the ratio of 6:5:4 and
its whole surface area is 66600 cm2,
then find the volume of the cuboid.
i B e AN, o 9T Swel 6:5:4
qPies AT AF WR P P M
66600 3 @ |, ©B FTROR FFTSH
fdm w1

If second, third and fourth terms in the
expression of (x+y)™ are 135, 30 and
1—30- respectively, then find the value

of n.

I’ (x+y" IPGR &S, PR wF vod
LD FW 135, 30 WiF 12 =W, o® n3
T fadfy w1
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(7))
(6 )
Then by wusing inclusion and
() Find the median from the following exclusion principle, determine the
data : number of distinct elements of

B. 5
TS il WU o R iy < g
Class Interval : 20-30 3040 40-50 50-60 60-70 | TEHE AE MR Ol forat | 4@t T,
(@ Rrore) A 9B FINT WG YR WS <30

' Ui 47 SfAeF, TF B Wbl AT TUG

Fre .
(a,:f:f;y S e B R 7S <30 WF 63 GASF | (O3
KB
_ WEE AF MHE owH! IW/I IN
(9) Show that (Feal @) AUB e foa @ Y fda
) F411
AM > GM
I Tt BT , ‘ (ii) Define moment-generating function
vz i of a random variable X. Show that
(h) For a distribution, the coefficient of E the moment-generating function
variance is 22-5% and the value of the of sum of two mdependem;
arithmetic average is 7-5. Find the random van.ables is the product‘ o
value of standard deviation. the respective moment-generating
function. 5
I Bt Rrelemd I 2PR9 Q9F 22-5%
A A oG 7-5. Refewon amiw Rpfs Bl A TrE XTI ARG THE T
i | , e Pl e @ WO wey Afes
TR @R RIS o He e JoIF
4. Answer any one of the following questions : 10 AR RIS T I

oo il R e @bt e Sew forat '
(b) Show that the value of correlation

(@ (i) State the principle of inclusion and coefficient lies between -1 and +1. 10
exclusion. Let A be the set of ‘
positive integers <30 and multiples [ = - YT @ RETIR QURPY AT -1 WF +13

pf 4, and B be the set of positive &S AT |
integers <30 and multiples of 6. ‘
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( 8 )

(¢) Given the variance of X is 9. The
regression equations are

it iR, X3 o7t a1 9. TR AN T
EY|
8x-10y+66 =0 and (¥<¥) 40x-18y =214

Find the following : 10
oS iy dy w4
(i) Average values of x and y

x 9y T8 4

(i) Correlation coefficient between x
and y

X € yd S9 ARSTTR SR
(iij) Standard deviation of y
yd giias Rpfs
(d) Write short notes on : 2+4+4=10
2 GBIl fordt -
(i) Range
oA
(ii) Quartile deviation
vede fpfe
(iii) Least square method

e I5f e

* k& %
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